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Total Mark (60 Marks) / \
8

I. Vocabulary (8 Marks)

A) From a, b, c and d choose the most suitable word that best completes each of the
following sentences. (4x1=4 Marks)

1. The book givesa/an .................... description of life in the city in the 1940s.
a. fizzy b. accurate c. wholegrain d. itchy
2. Careless driving.................... leads to injury or death, so one should drive carefully.
a. loudly b. awkwardly C. mostly d. ornately
3. Athieftriedto.................... ,but he was arrested before he could.
a. install b. flee C. associate d. shatter
4. Ted speaks a/an .................... of English that I find hard to understand.
a. custom b. illness C. generation d. dialect

B) Fill in the spaces with the most suitable word from the list below: (4x1= 4 Marks)

(personality / enthusiastic / pavements / numerous/ lullabies)
5. The story is so interesting that I’'ve read it ........................ times.
6. Most mothers sing beautiful...................... to help their babies sleep.
7. Getting a good job depends largely on one’s skills, experience and ........................

8. She felt very................. because of the help and support of her parents and teachers.



o (romaall — il nall 201972018 (o33 ircusy b} 5N sl (g 3265 Gl

I1. Grammar (5 Marks)

5
a. Cloze Test v

Choose the correct answer: (4x ¥ = 2 Marks)

9. Last night, my little brother wanted to drink milk, but he didn't find (a / any / an) milk
in the fridge. | went to the supermarket, (who / when / which) was not far  away. | asked
the shopkeeper to give me as (much / many / little) cartons of milk as he could. "Sorry sir, |
have (just / for / since) sold the last carton,” said the shopkeeper.

b. Transformation

Do as shown between brackets: (3X1=3 Marks)

10. “I want to learn how to ride a bike,” said the little boy. (Report)

The lIttle DOY SAIU. ... e,

...............................................................................................................

...............................................................................................................
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I11. Lanquage Functions (6 Marks)

Write what you would say in the following situations: (3x2=6 M) O
6
13. Your little sister eats a lot of fast food.

...............................................................................................................

...............................................................................................................

1V. Set Book Questions (6 Marks)

Answer only Three of the following questions: (3x2=6 M)

16. Why is taking holidays important? w

...............................................................................................................

...............................................................................................................

...............................................................................................................

...............................................................................................................
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Clean water is the most precious resource on earth. Man, animals and plants can’t live
without it.

V. Writing (15 Marks)

Plan and write a report of two paragraphs (12 sentences) about the importance of clean
water and how to save it.

The following quidewords may help you:

healthy/rain /wells /drinking /agriculture / save / turn off /posters/ laws /basic

Prewriting techniques (2 M)




sl Aseinall — guolil) cuall 201972018 393 rcssal ) 3 RN Trilgd o923 (oloxiial

Topic (13 M)

_ paragraphing & number
Techniques of sentences

Spelling and Handwriting
Grammar spacing & Pun.
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V1. Reading Comprehension (20 Marks)

Read the following passage, then answer the questions that follow:

Mexico City is one of the most polluted cities in the world. It has been said that
Mexico City's air has gone from being one of the world's cleanest to one of the world's most
polluted. Unfortunately, the worst problem gripping the city is the massive cloud of smog
that hangs over it almost every day. Mexico City has the highest level of ground level ozone
in the world, according to the World Health Organization.

There are mountains all around the city and there is not much wind, so the pollution is
not blown away. The people of Mexico City have tried to cut the pollution out. They have
moved the factories outside the city. They have planted more trees to produce oxygen and
keep the air clean. There are new traffic rules so that there are fewer cars on the city roads.
They put signs of different colours on all the cars. So there are some colours of cars for every
day.

London also used to have the same problem as Mexico. Now drivers have to pay
money to drive into the centre of London during working hours. This has succeeded in
reducing the number of drivers who come into London every day. Many people now use
buses and trains instead of their own cars.

A) Choose the best answer from a. b. ¢ and d: (4x 2%, = 10 Marks)
20. Which of the following would be the best title of the passage above?
a. Working Hours b. Coloured Signs
¢. Mountains and Cities d. Pollution in Big Cities
21. What does the underlined word "their" in the 3" paragraph refer to?
a. people in London b. people in Mexico City
c. working hours d. buses and trains
22. The underlined word "massive " in the 1% paragraph is closest in meaning to
a. little
b. very large
c. very small

d. tiny
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23. Ground level ozone in London is
a. higher than that in Mexico City
b. lower than that in Mexico City
c. as much as that in Mexico City
d. twice as much as that in Mexico City
B) Answer the following questions: (4x 2% = 10 Marks

24. What is the worst problem facing Mexico City?

...............................................................................................................

e Cegal
Tl oo as



